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61 348 Service Operations Management
Final Exam
1. Temizlik Comp. is a company specialized in cleaning. Tayfur Hotel agreed with this very company, as part of an outsourcing contract, to award Temizlik Comp. a 1-year contract. According to the term of this contract, Temizlik Comp. is responsible for the cleaning of hotel’s guestrooms, employee offices and public areas. Since the contract is towards its end, Temizlik Comp. wants to renew its contract. Yet, knows that this is only possible if it shows professional services. In this regard, Temizlik Comp. decided, for the last two months, to encourage hotel users (guests, employee, managers, visitors…) to fill a Quality Survey Questionnaire to detect problems and try to solve them. After analyzing the questionnaires, the following 6 categories of quality problems have been observed:
· Unpleasant looking floor
· Hygienic problems 
· Office desks not dusted
· Window stains not removed
· Toilets not thoroughly cleaned

· Others

Moreover, Temizlik Comp. managed to compile (from questionnaires responses) frequencies related to each of the above quality problem categories as follows:

	
	Problem Areas

	Week
	Unpleasant Looking Floor 
	Hygienic
	Office Desks not Dusted
	Window Stains not Removed
	Toilets not thoroughly Cleaned
	Others

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	1
	1
	2
	1
	3
	1
	1

	2
	1
	2
	2
	2
	2
	2

	3
	0
	2
	1
	5
	1
	2

	4
	0
	3
	3
	4
	3
	3

	5
	1
	1
	3
	1
	4
	1

	6
	2
	1
	2
	2
	1
	2

	7
	0
	4
	4
	1
	2
	1

	8
	2
	1
	0
	3
	3
	0

	9
	1
	3
	1
	2
	2
	2

	10
	3
	1
	1
	6
	3
	3

	
	
	
	
	
	
	

	Total
	11
	20
	18
	29
	22
	17


a) Prepare a Run Chart of “Toilets not thoroughly Cleaned” across time (measured in weeks). (2 Points)

b) Prepare a Pareto Chart for the above data. (2 Points)

c) According to you, which problem area needs to be tackled first? Why? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

2. What are the characteristics of companies with an inverted T organization? Give an example of any company that organizes itself as an inverted T. Support your answer. (4 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
3. During the past season, Hamit Holiday Village did not achieve very high occupancy rates despite a reservation system that was designed to keep the Holiday Village fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Holiday Village was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations Overbooked
	Cumulative Probability

	
	
	
	

	0
	0.15
	0
	0.00

	1
	0.16
	1
	0.15

	2
	0.18
	2
	0.31

	3
	0.11
	3
	0.49

	4
	0.10
	4
	0.60

	5
	0.09
	5
	0.70

	6
	0.07
	6
	0.79

	7
	0.05
	7
	0.86

	8
	0.04
	8
	0.91

	9
	0.03
	9
	0.95

	10
	0.02
	10
	0.98


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 120. 

a) Calculate the Expected Number of No Show Rooms. (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) Calculate the Expected Opportunity Loss. (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
In order to avoid some of this loss, Hamit Holiday Village management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Hamit Holiday Village has made arrangements with a nearby Club (Sümer Club) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 180 per turned out guest.

c) Fill the below Overbooking Loss Table (3 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.15
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	1
	0.16
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	2
	0.18
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	3
	0.11
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	4
	0.10
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	5
	0.09
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	6
	0.07
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	7
	0.05
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	8
	0.04
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	9
	0.03
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	10
	0.02
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
4. What any 3 characteristics a company must have so that yield management would be an appropriate strategy? (3 Points)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
5. In the below figure, 4 quadrants of “Multisite and Multiservice Expansion Strategies” are found. Could you place the following 4 companies in their respective quadrant? (2 Points)

	
	
	Single Service
	Multiservice

	
	
	 
	 

	Single Location
	Focused Service
	Clustered Service

	
	 
	 

	
	 
	 

	Multisite
	Focused Network
	Diversified Network

	
	 
	 

	
	 
	 


· American Express

· Family restaurants

· McDonald’s

· USAA Insurance
6. What is “global localization”? How shall companies behave to reach global localization? Could you provide one example of a company that achieved global localization? (3 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Good Luck
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